

ANNALES DE L'I. H. P., SECTION A

K. N. SRINIVASA RAO

The motion of a falling particle in a Schwarzschild field

Annales de l'I. H. P., section A, tome 5, n° 3 (1966), p. 227-233

<http://www.numdam.org/item?id=AIHPA_1966__5_3_227_0>

© Gauthier-Villars, 1966, tous droits réservés.

L'accès aux archives de la revue « Annales de l'I. H. P., section A » implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques
<http://www.numdam.org/>

The motion of a falling particle in a Schwarzschild field

By

K. N. SRINIVASA RAO
(Université de Mysore, Inde).

In the wake of the problem of the motion of the perihelion of a planet [1-3] in the General Theory of Relativity it is interesting to consider the simpler but nevertheless instructive problem of a falling particle in a Schwarzschild field. Whittaker [4] discusses a similar rectilinear motion and gives expressions for the velocity and acceleration of a particle in terms of an arbitrary constant. We shall, however, obtain an expression for the velocity of such a falling particle which is projected with an initial velocity u and show that it reduces to the Newtonian formula in the limit $c \rightarrow \infty$ or what is the same thing, as $S \rightarrow 0$ where $S = \frac{2GM}{c^2}$ is the Schwarzschild radius. On the otherhand, in a differential region round a point of interest where the gravitational field could be treated as uniform, the second approximation wherein we neglect terms containing S^2 but retain those containing S , yields a motion which follows from the Special Theory of Relativity, thus providing an illustration of Einstein's Principle of Equivalence [2]. In particular, a further approximation leads to the well-known Hyperbolic motion [5-6].

Assuming that the particle is « falling » along the line $\theta = 0$ (or along $\varphi = \text{constant}$ in the plane $\theta = \pi/2$ to keep correspondence with the problem of perihelion motion), the Schwarzschild metric becomes,

$$ds^2 = - \frac{dr^2}{1 - S/r} + (1 - S/r)c^2 d\tau^2 \quad (1)$$

where, for convenience in notation we denote the coordinate time by τ rather than t which will denote physical time. Thus, if dl and dt are respectively the elements of length and time, we have [4],

$$dl^2 = \frac{dr^2}{1 - S/r}; \quad dt^2 = (1 - S/r)d\tau^2 \quad (2)$$

It is clear that in the limit $S \rightarrow 0$, we can take $l = r$. With $l = l_0$ at $r = r_0$, we have

$$\begin{aligned} x = l_0 - l &= \int_r^{r_0} \frac{dr}{\sqrt{1 - S/r}}; & r_0 > r > S \\ &= \frac{1}{\sqrt{1 - S/\xi}}(r_0 - r); & r \leq \xi \leq r_0 \end{aligned} \quad (3)$$

from the mean value theorem of the integral calculus. If we regard S as so small that its square may be neglected, we can obviously write, approximately

$$r_0 - r = x \left(1 - \frac{S}{2\xi} \right) \quad (4)$$

The equations of the geodesic reduce, with $\theta = 0$, to

$$\frac{d^2 r}{ds^2} + \frac{1}{2} \frac{d\lambda}{dr} \left(\frac{dr}{ds} \right)^2 + c^2 \frac{e^{\nu-\lambda}}{2} \left(\frac{d\nu}{dr} \right) \left(\frac{d\tau}{ds} \right)^2 = 0 \quad (5)$$

$$\frac{d^2 \tau}{ds^2} + \frac{d\nu}{ds} \frac{d\tau}{ds} = 0 \quad (6)$$

where

$$e^\nu = e^{-\lambda} = 1 - S/r \quad (7)$$

The integral of (6) is

$$\frac{d\tau}{ds} = \frac{k}{1 - S/r}; \quad k \text{ a constant} \quad (8)$$

and one can check that (1) already provides an integral of (5). Thus from (1) and (8) we obtain

$$\left(\frac{dr}{d\tau} \right)^2 = c^2 (1 - S/r)^2 \left\{ 1 - \frac{1 - S/r}{c^2 k^2} \right\} \quad (9)$$

If v is the velocity of the particle, we have, from (2)

$$\begin{aligned} v^2 &= \left(\frac{dl}{dt} \right)^2 = \frac{1}{(1 - S/r)^2} \left(\frac{dr}{d\tau} \right)^2 \\ &= c^2 \left\{ 1 - \frac{1 - S/r}{c^2 k^2} \right\}. \end{aligned} \quad (10)$$

Let the particle have the initial velocity u (i. e., at $t = 0$) at $r = r_0$. Evaluating the constant k and simplifying, we obtain

$$\frac{1 - u^2/c^2}{1 - v^2/c^2} = \frac{1 - S/r_0}{1 - S/r} \quad (11)$$

giving an exact expression for the velocity of the falling particle.

Bearing in mind that $S = \frac{2GM}{c^2}$, we can rewrite (11) as

$$v^2 = \frac{u^2(1 - S/r) + 2GM\left(\frac{1}{r} - \frac{1}{r_0}\right)}{1 - S/r_0} \quad (12)$$

which clearly goes over into the Newtonian formula (for $S \rightarrow 0$)

$$v^2 = u^2 + 2GM\left(\frac{1}{l} - \frac{1}{l_0}\right) \quad (13)$$

since $r \rightarrow l$ as $S \rightarrow 0$.

We now proceed to an approximation of (11) which yields the motion according to the Special Theory of Relativity. We recall [5] that the motion of a freely falling particle in a uniform field is the well known Hyperbolic motion given by

$$(x + c^2/g)^2 - c^2t^2 = c^4/g^2 \quad (14)$$

which is the solution of the differential equation

$$\frac{d}{dt}(mv) = \frac{d}{dt}\left(\frac{m_0v}{\sqrt{1 - v^2/c^2}}\right) = m_0g \quad (15)$$

If we drop the stipulation that the force on the particle is constant and equal to m_0g , we should really have

$$\frac{d}{dt}\left(\frac{m_0v}{\sqrt{1 - v^2/c^2}}\right) = mg = \frac{m_0g}{\sqrt{1 - v^2/c^2}} \quad (16)$$

Simplifying, we get

$$\frac{1}{1 - v^2/c^2} \frac{dv}{dt} = g \quad (17)$$

Integration of (17) yields

$$\frac{1}{2} \log \frac{1 + v/c}{1 - v/c} = gt/c + \text{constant.}$$

If $v = u$ at $t = 0$, we obtain, on evaluating the constant

$$v/c = \frac{\sinh gt/c + u/c \cosh gt/c}{\cosh gt/c + u/c \sinh gt/c} \quad (18)$$

Writing $v = \frac{dx}{dt}$ and with $x = 0$ at $t = 0$, an integration of (18) immediately gives

$$x = c^2/g \log (\cosh gt/c + u/c \sinh gt/c). \quad (19)$$

We shall now arrive at (19) as an approximation from (11). On taking logarithms, we have

$$\begin{aligned} \log \frac{1 - u^2/c^2}{1 - v^2/c^2} &= \log (1 - S/r_0) - \log (1 - S/r) \\ &\approx S \left(\frac{1}{r} - \frac{1}{r_0} \right), \text{ neglecting } S^2 \end{aligned} \quad (20)$$

Consider now a differential region at $r = r_0$ wherein second and higher powers of $\frac{r_0 - r}{r_0}$ may be regarded as negligible. We then have

$$\frac{1}{r} = \frac{1}{r_0} \left(1 - \frac{r_0 - r}{r_0} \right)^{-1} \approx \frac{1}{r_0} + \frac{r_0 - r}{r_0^2}$$

or

$$\frac{1}{r} - \frac{1}{r_0} = \frac{r_0 - r}{r_0^2} \approx \frac{x}{r_0^2} \left(1 - \frac{S}{2\xi} \right) \quad (21)$$

from (4)

Substituting into (20), we get

$$\begin{aligned} \log \frac{1 - u^2/c^2}{1 - v^2/c^2} &\approx \frac{x}{r_0^2} S (1 - S/2\xi) \\ &\approx \frac{xS}{r_0^2} \text{ neglecting } S^2 \text{ again} \\ &= \frac{2GM}{c^2 r_0^2} x \end{aligned} \quad (22)$$

With an obvious notation which has special reference to the earth's gravitational field, we define « g » by the relation $GM = gr_0^2$ and we get

$$\log \frac{1 - u^2/c^2}{1 - v^2/c^2} = \frac{2gx}{c^2}$$

or, equivalently

$$\frac{1 - u^2/c^2}{1 - v^2/c^2} = e^{2gx/c^2} \quad (23)$$

Since $x = l_0 - l$, $v^2 = \left(\frac{dl}{dt}\right)^2 = \left(\frac{dx}{dt}\right)^2$ and rewriting (23) we have

$$\frac{dx}{dt} = \frac{c\sqrt{e^{2gx/c^2} - 1 + (u^2/c^2)}}{e^{gx/c^2}}$$

i. e.,

$$ct = \int \frac{\gamma e^{gx/c^2} dx}{\sqrt{\gamma^2 e^{2gx/c^2} - 1}} + \text{constant}, \quad \text{where} \quad \gamma = \frac{1}{\sqrt{1 - u^2/c^2}}$$

or

$$ct = c^2/g \cosh^{-1}(\gamma e^{gx/c^2}) + \text{constant}$$

If $x = 0$ at $t = 0$, we get

$$gt/c = \cosh^{-1}(\gamma e^{gx/c^2}) - \cosh^{-1}(\gamma) \quad (24)$$

Since

$$(i) \sinh [\cosh^{-1}(\gamma e^{gx/c^2})] = \sqrt{\gamma^2 e^{2gx/c^2} - 1}$$

$$(ii) \sinh [\cosh^{-1}(\gamma)] = \sqrt{\gamma^2 - 1} = \frac{u\gamma}{c}$$

we have

$$\cosh gt/c = \gamma^2 e^{gx/c^2} - \frac{u\gamma}{c} \sqrt{\gamma^2 e^{2gx/c^2} - 1} \quad (25 a)$$

$$\sinh gt/c = \gamma \sqrt{\gamma^2 e^{2gx/c^2} - 1} - \frac{u\gamma^2}{c} e^{gx/c^2} \quad (25 b)$$

Multiplying (25 b) by u/c and adding to (25 a), we get

$$e^{gx/c^2} = \cosh gt/c + u/c \sinh gt/c \quad (26)$$

Taking logarithms, we obtain the formula (19) of the Special Theory of Relativity :

$$x = c^2/g \log (\cosh gt/c + u/c \sinh gt/c). \quad (19)$$

In order to arrive at the equation describing Hyperbolic motion, we start from (26) and retain terms, only upto the second power in x and t . Thus

$$1 + gx/c^2 + g^2 x^2/2c^4 = \left(1 + \frac{g^2 t^2}{2c^2}\right) + \frac{u}{c}(gt/c)$$

and on simplification, we have

$$(x + c^2/g)^2 - c^2(t + u/g)^2 = \frac{c^4}{\gamma^2 g^2} \quad (27)$$

which is clearly the equation of a hyperbola in $x - t$ space. With $u = 0$, equation (27) reduces to the familiar equation (14). We remark that (27) results from

$$\frac{d}{dt} \left(\frac{m_0 v}{\sqrt{1 - v^2/c^2}} \right) = m_u g; \quad m_v = \frac{m_0}{\sqrt{1 - v^2/c^2}} = m$$

showing that hyperbolic motion is a consequence, only of a *constant* [6] force acting on the particle.

Taking the square root, we can rewrite equation (23) as

$$\frac{1}{\sqrt{1 - v^2/c^2}} = \frac{1}{\sqrt{1 - u^2/c^2}} e^{gx/c^2} \quad (28)$$

Multiplying by m_0 , we have

$$m_v = m_u e^{gx/c^2} \quad (29)$$

Thus $m_v = m_v(x)$, a function of position only and our reference system of interest is *conservative* [7]. Indeed, if we take

$$\varphi(x) = -m_u c^2 (e^{gx/c^2} - 1) + \varphi(0) \quad (30)$$

we have

$$-\frac{\partial \varphi}{\partial x} = m_v g$$

and

$$m_v c^2 + \varphi(x) = m_u c^2 + \varphi(0) = \text{constant} \quad (31)$$

which is the energy equation.

We finally observe that equations (18), (19) and (23) may be regarded as the relativistic analogues of the Galilean laws for a falling body. Equation (18), for example, would show that the « time of rise » of a particle thrown « vertically up » is

$$T = \frac{c}{2g} \log \frac{1 + u/c}{1 - u/c} \quad (32)$$

while (23) would give, for the maximum height attained

$$H = c^2/g \log \frac{1}{\sqrt{1 - u^2/c^2}} \quad (33)$$

One can similarly arrive at other results which are equivalent in content to those derivable from the Galilean laws.

SUMMARY

It is shown that the rectilinear motion of a particle in a Schwarzschild field reduces to the Newtonian law in the limit $S \rightarrow 0$ where $S = \frac{2GM}{c^2}$ is the Schwarzschild radius and that it reduces to a motion according to Special Relativity in a differential region if S^2 is neglected, thus illustrating Einstein's Principle of Equivalence. Relativistic analogues of the Galilean laws for a falling body are incidentally obtained.

It is a pleasure to express my deep sense of gratitude to Prof. S. Kichenassamy of the Institut Henri Poincaré for his very kind and helpful comments and Prof. S. Chandrasekhar, University of Mysore, for his personal interest.

REFERENCES

- [1] A. S. EDDINGTON, *Mathematical Theory of Relativity*. Cambridge University Press.
 - [2] R. C. TOLMAN, *Relativity, Thermodynamics and Cosmology*. Oxford University Press.
 - [3] P. G. BERGMANN, *Introduction to the Theory of Relativity*. Prentice Hall. Inc.
 - [4] E. WHITTAKER, *A History of the Theories of Aether and Electricity*, vol. II. Thomas Nelson and Sons Ltd.
 - [5] C. MOLLER, *The Theory of Relativity*. Oxford University Press.
 - [6] W. PAULI, *Theory of Relativity*. Pergamon Press.
 - [7] G. STEPHENSON and C. W. KILMISTER, *Special Relativity for Physicists*. Longmans, Green and Co.
-